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L An M?A‘mm laimo ® Aave W’/WWM Ma/ws m a
Z@mmy(#ru—cﬂﬂ/wnﬁ)aﬂy i the pame twa, Ts the sbaorvation
Geewndle ¢ Explain. (147)

2. Draw the et onengy cwwtw//m 2ao/oo/z%z/a,£w wm the Ph=Sy, MA?‘
W at 250°c , 200, and /50 (1e%)
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3 «S“rFOSG a piece of pon ane Aeld ot a ém/ww&m of 700°C in an
Wwd&y%wma_w. ComW%/Z’éz fafmw,c a,Zin/ﬂw 0

CO: 329 , CO,: 204 and Nz 489 byvolume. The youtipm To 4o
Coneideresd 1o |
CO, +Fe =Fe0 +(0
Equibifniam Conalante of thi sgualion oA Varisua Loppordu are @
4oy
Tempuadnt  Sp0c 700 /000C

K 0.83 r43 2,50

How urould the suface Ao oxidiped or b¢ Reductd, Expps (147 )
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4. The e;aa/’f:zm , Au=Tds-pdV, i

) 4/;/:Z'ml/e fw a closed ;/Jemx m& ;

Q) df/’%caﬂe 741,, Aoﬁf open a,.,\o( c/efeo/ ,yrfemf,'

O a  combinatom o)(' s 7@,,,1‘ o] sewnd [aw o/ f/lerm'émq'fnc.f,‘

4) 7101 M/ﬁcpﬁ/e ﬂy oo /‘So/ajeo/ foem,t;

&/ dffz"‘”;/‘ 74/ &7 6‘/0!&( ,/er,ﬂ ,,[;_(Y?arp{ 2z 7‘4 ﬂ/)‘n o/ w:\r-4 fer]{é.'me;{;
‘ W )70,( W//,‘(d&/( f’w an  inevers:ble f””‘e-f;/' (e %)

@/[(,Jajz % én,(ro/o/ C.‘Aﬂ., W/m /00 /{dm; o/fA[ .4?‘ /oo"C a
/)bao( i /0° /‘/ﬂ'ﬂj 7[ do[iﬂéd/gc‘d// cml/f/lh;xf( ll/('/z:’»)’, N/{:C/{ w2
,‘n;ﬁa/// aX 28°C, fw Zn/ While . M0 /Yﬂno/e , A J7f/m:/c;
Cf,/mu =20.7F /2.4 X0 T Wy-h-o/c’/ Gothow) = 7644 »T/ﬂg/—m/e. (162)

e vapor pressure o/f solil anAd ,&/wv/ & ane /er/oezjfue}«,
L Peatm) = - LB o fu T + 2UEF | ATK-To (1366K),  for G
IaPlatn) = _ £‘£3T—""— 12 LT f 2277, Tm ~ s U8E8K) | for Lices
plezse eslmat  #e & fferena belween #0 Aol (ﬂ/wa/f'e; .s/ so ol o

Z;quw( copper. e 7%)

7 /’/éw pick wp H#He comed stalement Cs) |
7 enfnf/ varidlim of Ha me&l’}zj of moll melely e of similar valies
@) #e meémj /ap;nf( of i@ (i€ thos) L2 fredje?’ A ceqa leel #Hom I Fop

of Ah-Li-shan (77 Euli);

Y e Thid Low of Thicmodyramses allos o 2o peedict #e spoitbneily of veadms,
@ He i filim ,7[ m‘fnden from st 2s*2p" £ 187 25 2P 35" L yilves only

a»-,%mm(?mz/ edvpy vaviafion, no HMermel  enlwpy “2 invelved ;

&) stae 1,(h, T) —> ok 2¢f. T.)  varidlom;

fw e abive varalim we would eshimale aH=Hi-H,, aS= 525
and Al = Wh-W,. ( )




